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The plate is assumed to hawve negligible thickness and the mass per unit area is g, . Then, the
inertia tensor elements are

I, =g, !'[ri—;rf] dx, dx,

=lﬂsj[r§+'t§:]d‘tldri=ppf'r§ Iirl 'ixz =4 [T]
Ip=p, | -xi)dx, dx, =g, [x] dx, dx, =B 2)
IBJ=-“}+J.':H_I§]‘1IL riI1=p,j|:If+I§:|iiI, ixy (3
Defining A and B as above, [y becomes
I,=A+E (4)
Also,
Iu=J.|:'5_[-::—xlrﬂueirL dx, =-C i5)
Iy =8 [(~2x)dx, dx; =—C i6)
113=-‘:EI'::_ILI3|‘11L dx, =0=1I, {7)
Iy =#, [(~xx ) dx dx, =0=1I, (8)
Theretore, the inertia tensor has the form
A -C 0
fI}=|-c B 0 )
0 0 A+E




